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The first and the last number must be the same.



The middle number must be the first number multiplied by 2

Ex.6x2>12/2 > 6etc.
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First calculation completed correctly as

51~ [2] - [w)
(2]~ (5] - [&]

second calculation completed correctly as
shown:

Leo - [r2]-[5]

or

Leof-[s =[]
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Both calculations must be completed
correctly for the award of the mark.

Do not award the mark if either
calculation has been completed using
numbers that are different to those
given in the question,

16.
26 | Calculation ticked as shown; im Accept any other clear way of indicating
the correct calculation.
20+5=25 [ ]
Do not award the mark if other
20=5=15 calculations are indicated unless it is clear
that the correct calculation is the pupil’s
20:+:5=4 - final choice.
20 x 5 = 100 |:|
17.
— | I = |
29 | A correct decision for each pair of im All decisions must be correct for the
calculations, as shown balow: award of the mark.
25
Y Accept any other clear way of indicating
yes the correct decisions, e.qg.
no “¥' or ¥ or ‘true’ for ‘yas'
no ‘N’ or X or ‘false’ for 'no’.

Commentary for question 29: Knowing the commutivity laws for the four operations is a new
requirement for key stage 1 mathematics. (2C9b/2C%a)
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26 | Both calculations circled as shown: im Both correct calculations must be
indicated for the award of the mark.

]_C' + I Accept any other clear way of indicating
the correct calculations, including
evaluating only the correct two
calculations, i.e. writing 40 alongside each
of the two comrect calculations.

@10 + 10 + 10 Do not award the mark if other
calculations have been evaluated, and the

h 4 ri|. + i} 1 .'f} correct two have not been indicated.

Do not award the mark if more than two
calculations are circled unless it is clear
that the correct calculations are the child's
final choice.
19.
29 | Both signs written correctly as shown: 1im Both signs must ba correct for the award
of the mark.
( 5 1 I".I oy 5 . . . " 5
10+ 5 < A Accept slight inaccuracies in the drawing
of the signs, as long as the intention is
clear.
X 0 = O+ 0O
KS1 - 2018 Paper — Reasoning
20.
19 | Both number sentences completed as im All numbers in both number sentences

shown:

8 * 5 = 40
40 = 5 = )
OR

8 x 5 = 40
40 = 8 = 5

must be comect for the award of the mark,
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T All three signs written correctly as shown: im All three signs must be correct for the
award of the mark.
Accept slight inaccuracies in the drawing of
f 4 1 1 — 5 the signs, as long as the intention is clear.
(Refer to general marking principle 2 on
page 6.
23| sl g == P
/| =] 1 = 3%
121+ |1 = 20
22.
21 | Award TWO marks for three number 2m Accept any other clear way of indicating
santances completed correctly, i.a. tha corract answars, .g9. matching correct
cards to answer boxes,
27 + 40 = &7 {Refar to general marking principles 10
and 11 on pages 7 and 8.)
54 |- 20 |=| 34
10 |+ | 88 |=| 98
Award ONE mark for any two number im

sentences completed correcthy.
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All number sentences must be completed

correctly as shown for the award of the mark.

For the addition:

36|+| 6 |=|42

OR

6 |+|36|=|42

AND

For the subtraction:

42 |- 6 |=]|36

OR

42 1-136

I
(o8

im

Both number sentences must be correct
for the award of the mark.




